
S. No. Question Choice 1 Choice 2 Choice 3 Choice 4 Correct Choice

1 What is the purpose of using small wins as 

milestones?

To quickly implement the 

entire idea

To showcase progress To eliminate the need 

for major changes 

To discourage others 

from contribution

Option 2

2 Why is it important to adapt arguments for diverse 

needs?

Enhance clarity Foster inclusivity Simplify communication Strengthen personal 

bias

Option 2

3 What is the purpose of using pictures to present 

details?

 To enhance 

understanding

To replace text completely To increase word count To increase the content Option 1

4 Which of the following tool is used for conferencing 

with the stakeholders?

Pinterest Skype Zoom E- mail Option 3

5 Which of the following is the correct way to dispose 

of the old reports?

Bury them in a landfill Burn them in an open area Use them as 

decorations

Dispose using shredder 

machine

Option 4

6 Which of the following is the correct way to ask for 

feedback from the client?

Send them WhatsApp 

messages

Politely ask them via Email Told them it is necessary 

part of collaboration

Call them personally Option 2

7 What is the purpose of an in-depth process 

assessment?

To skip the analysis phase To focus on technical 

implementation

To identify  process of 

improvement

To create a basic 

workflow for 

automation

Option 3

8 What is the purpose of conducting a technical 

feasibility analysis?

 To determine the cost of 

software

To assess the impact on 

employee morale

To evaluate the 

availability of skilled 

developers

Assess RPA's Technical 

Viability

Option 4

9 What is the purpose of defining a downtime schedule 

for RPA processes?

Enhance employee 

training

Minimize system 

efficiency

Plan maintenance 

activities

Optimize robot 

performance

Option 3

10 If you are implementing an access control system 

that assigns permissions based on user roles. Which 

control system you will choose?

Role-based control Identity control Attribute control Hierarchical control Option 1

11 Identify the RPI tool shown in the image blueprism UI path Automation Anywhere WorkFusion Option 1

12 Which of the following is not a third-party API 

provider?

Facebook Open AI Twitter Google Option 2

13 Which of the following is the feature of a KPI? Music Streaming Service Vehicle Identification 

Number

Measure performance 

over time

Personal Identification 

Number

Option 3

14 Your team is discussing different KPIs to track 

effectiveness. Which KPI is challenging to present as 

a numerical value?

Qualitative indicators Input indicators Lagging indicators Quantitative indicators Option 1

15  Who are the relevant stakeholders to whom 

compliance issues should be presented?

Local community 

members

Project team members Government officials Friends and family Option 2

16 Match the following KPIs with their description

A)Error Rate 

B)Process Efficiency

C)Cost Savings

1)Measure of how much time and effort is saved

2)Quantification of the monetary benefits

3)The ratio of errors to the number of processes
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